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1.

5711

All questions are compulsory.

This question paper consists of four Sections A, B, C and D. Section A
contains 8 questions of one mark each, Section B is of 10 questions of two
marks each, Section C is of 9 questions of three marks each and Section D
is of 3 questions of five marks each. '

There is no overall choice. However, an internal choice has been provided
in one question of 2 marks, one question of 3 marks and all the three
questions of § marks weightage. A student has to attempt only one of the
alternatives in such questions.

Wherever necessary, the diagrams drawn should be neat and properly
labelled. 3
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SECTION A

RNA =fdetor (RNAi) SfiF &1 99rel |d sa15e |

Write the possible source of RNA interference (RNAi) gene.
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(@) i fg-fawem g fawfsa &l & | 390 @ o =it g5a & ®9
7 fqefed 21 St 2 |
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%9 ¥ faefya &t It 2 |

(©) ﬁﬁmaﬁﬁﬁmmmﬁ%ﬁ@a%wﬁﬁmém%l

Which one of the following statements is true of yeast ? :

(a) The cell divides by binary fission. One of them develops into a bud.

()  The cell divides unequally. The smaller cell develops into a bud.

(c) The cell produces conidia which develop into a bud.

erfeditfeNfaT 59 aret i gewi & q91 39 o §94 ITell Tgarar &
a9 SIS |

Name the specific components and the linkage between them that form
deoxyadenosine.

T forem % %W $1 S g9 A el Tl S gU-Scaeswhdl Bl 98l S |
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Write a professional approach at genetic level that can help the farmer to
improve the milk yield of low milk producing cows on his farm.

1 BT @ 9 pBR 322 wAISHS % Sal I ©d W T foudia s g feam
ST ® 2

State what happens when an alien gene is ligated at Sal I site of pBR 322
plasmid.

Farse f afcai o aehciweEs T9 | I 791 S99 fhd TR Hid & ?

Mention how do bears escape from stressful time in winter.

TTahrgehl (M) Sita § STHeI@H & S YRYS $Reh & ®9 § Rho HRh
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Which one out of Rho factor and Sigma factor act as initiation factor
during transcription in a prokaryote ?
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T ¥ dod § AP, mewREE sk < § 9 areh T gREe @
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Name the common phenomenon with reference to reproduction in
rotifers, honey bees and turkey.
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SECTION B
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Write about the ancestry and evolution of bat, horse and human on the
basis of a comparative study of their forelimbs. What are these limbs
categorised as ? '
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How do plants produce seeds through apomixis ? Explain with the help of
an example.

OR
Why is ZIFT a boon to childless couples ? Explain the procedure.
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Differentiate between multiple allelism and pleiotropy with the help of an
example each.

T foRiy W1 1 A9 AEE IWR H IF W % o e yER afwen yem
HET 7 ?

How does a vaccine for a particular disease immunise the human body
against that disease ? _

T TFEIfEUs ShaTeas 9 ¥ fohE vehr tsigfaees ¥ i At 2 ? Sal I
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How is an exonuclease functionally different from an endonuclease ? Give
an example of any two endonucleases other than Sal I.
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Explain why it is scientifically incorrect to blame the mother for bearing
female child.
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This is the pedigree of a family tracing the movement of the gene for
haemophilia. Explain the pattern of inheritance of the disease in the
family.

16. W foaeht wwfamt @ s1ot wan forg veer e § 2 = fifv | 2
How does Monarch butterfly defend itself from predators ? Explain.
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. S

Name the scientist who had used the set-up shown below. Write the
purpose of ‘a’ in the set-up and the conclusion the scientist arrived at.
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A patient showed symptoms of sustained high fever, stomach pain and
constipation, but no blood clot in stools. Name the disease and its
pathogen. Write the diagnostic test for the disease. How does the disease
get transmitted ?
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SECTION C

19. T 3SR <d gY W6 TSt (8 YAibiesH) i e Hifg | 3

Explain brood parasitism with the help of an example.
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Explain the basis on which the gel electrophoresis technique works.
Write any two ways the products obtained through this technique can be
utilised. '
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An active member of an awareness group conducts regular programmes

to sensitise public against alcoholism amongst youth — a serious health
hazard in his locality.

Identify the values this member of the group is trying to propagate
amongst the people in his locality.
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f= = fafie mRNA & fFasiiesel 1 ts %9 991 39 gR Sifeq WA

ot feg o § -
UUUAUGUUCGAGUUAGUGUAA
Phe — Met — Phe — Glu — Leu — Val

AR Fre % o B TAET S I oS & T @ o wd § ok
geawEig 98 ot 8 g% | -

In pea plants, the colour of the flower is either violet or white whereas
human skin colour shows many gradations. Explain giving reasons how it

is possible.

OR

Given below are the sequence of nucleotides in a particular mRNA and
amino acids coded by it : '

UUUAUGUUCGAGUUAGUGUAA
Phe — Met — Phe — Glu - Leu — Val

Write the properties of genetic code that can be and that cannot be
correlated from the above given data.

3 HINERISA & W Fa5¢ 9 W A" 31 § yaw 3 & gvEE. HIV Jod
TES ATHAY KT B | TE A5 I H Ifereqn-—=Zdt U 3Ieq= i * o 3R
3 gfaepfd foRd SR ST & 2

‘Name the cells HIV attacks first when it gains entry into a human body.

How does this virus replicate further to cause immuno deficiency in the
body ?
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oAl 6 FEA! W TH HIAEN & 9 § DDT % foeha | & Vb @l ot
RN 2 =TT hif | ; 3

Why should the spraying of DDT as an insecticide on vegetable crops be
banned ? Explain.

Bt ied 9Y Sl Th GM N9 & &9 # 5T YR IR fFam T 2 98 Mo
A (STetad) & Scfied & 379 & fohe JehR R T B ? 3

How is the Bt cotton plant created as a GM plant ? How is it protected
against boll worm infestation ?

(a) IS NG § B A B-verm e Ff |
(b) IS o NI BA B 39 TAIH o Icq1g1 bl &1 (A0 el 8 2 3

(a) Explain triple fusion in angiosperm.

(b)  Write the fate of the products of this fusion in the mature fruit of
coconut.

Zfolt e R 398 wRa % ™ N ygE i F T Tane R wew &
foTT wyes foha ST 8 | 59 618§ YT @eRt T % Sifed TUN <l T SR | 3
Name the prominent South Indian and North Indian species of sugarcane

used for cross breeding. List the desired qualities of the hybrid cane
obtained from this cross.
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(a)  Explain the process of microsporogenesis in angiosperms.
(b) Draw a labelled diagram of a mature pollen grain.

OR

When does oogenesis start in humans ? Name the three hormones and
their source linked with oogenesis. How do they influence the process of
oogenesis ? Explain.

ijplol|z|y|a
IR FFAE & Ab WA B TH wht FEaw fem mn | ey #
gig-mmem ¥ 9§ e fien fon Sar @ 9@ 5§ oW % weE i =
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YT

7Eay Gerggg ¥ fiw B epla 3R fiwt F T % wed #, we @ w1 Iwm
Fd gL TH U TEEEMHS 1 & Fy TR i Faqsg ed g awmaet aw
Sehi A faoriet fosives & | PHeRT U warsy |

i|plolz|yl|a

Given above is the schematic representation of lac operon of E.coli.
Explain the functioning of this operon when lactose is provided in the

growth medium of the bacteria.

OR

Usilig Punnett square show the F, results of a dihybrid cross where the
pure bred parents have contrasting traits with reference to seed shape

and seed colour in Pisum Sativum. Give the phenotypic ratio.

10




30.

571111
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(a) Why is the ozone layer required in the stratosphere ? How does it

get degraded ? Explain.
(b)  Why is the ozone depletion a threat to mankind ?

OR

How is detritus decomposed step-by-step by different agents and made

available as nutrients to the plants ? Explain.
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